
Year 1 Friday Maths  

Correct Answers 

The answers to Friday’s Math are from a different planet.  

There are a couple of mistakes on the sheet (which I wrongly 

assumed would be correct since I got it from a site I pay for!) 

 

Sheet 1 (Easier) 

1: A and C  match so B is the odd one out. 

2: B goes with 12+6. This is the only one that matches up. 

3: Emma is not right. You can make 4 by the following ways: 

0+4, 1+3, 2+2, 3+1, 4+0. 

 

Sheet 2 (Expected) 

4: A and B match so C is the odd one out. 

5: NONE MATCH HERE 

6: Jack is wrong because you can make 15 in 16 different ways: 

0+15, 1+14, 2+13, 3+12, 4+11, 5+10, 6+9 7+8, 8+7, 9+6, 10+5, 

11+4, 12+3, 13+2, 14+1, 15+0  

 

Sheet 3 (Greater Depth) 

7: A and C match so B is the odd one out. 

8: A matches with 3 +six, B matches with ten +10, C matches 

with 17+2,. 

9: Olivia is wrong. There are 20 ways to make 19.  

0+19  6+13  12+7  18+1 

1+18  7+12  13+6  19+0 

2+17  8+11  14+5 

3+16  9+10  15+4 

4+15  10+9  16+3 

5+14  11+8  17+2 


